Opérations avec deux fractions mixtes (B)

Date:

Calculez chaque résultat.

Nom:
1 1% +3z =
2 5; +~3- =
3 5% —4- =
4 5% + 1% =
5 11_58 X 5% =
6 5% —4=- =
7 5% + 2% =
8 SS X 1% =
9 5% X 11—23 =
10. 2% = 5% =

Note:
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Opérations avec deux fractions mixtes (B) Réponses

Nom: Date: Note:

Calculez chaque résultat.

LoqkLsb 3.1 3 02 6 3
272 2711 0 2 0 11
L 5.3 _40 .15 40 4 160 _ 32 _ 11
7 7 4 7715 105 21 21
11 9 2
39 2 2 2
1 2 16 5 21 7
bzt =gy = 3 =7 =7
o 15 sl 23,26 58 299 (29
18 5 1875 90 45 = 45
6 41 34 7
2 5 17 17 51 17
R T R
5 1 50 3 150 25 1
soogxly = gX3 = g T3 %83
o s2x12 47 15 705 235 1
9 13 9 713 117 39 39

5 2 21 27 21 5 105 35
8 " 75 8 5 8 27 216 72
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